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I ’® mwn: identifying the location of a Mercury-stele
a  YRynw " three rocks placed next to Mercury are themselves a ©5pan; if there are only 2 — not ©»pn
b wnon:if the rocks appear to be associated with the central statue — mmox; if not — MmN
i Analysis: 127's position is clear — D"y do not worship shards (- separate piles of rocks, assumed to have bro-
ken off of ©51pn, are ignored); but »’s position is unclear —
1  If: he holds that they worship shards — why not identify 2 (or 1?) as ©’%pIn?
2 And if he holds that they don’t, even three shouldn’t be reckoned
ii  Proposal (72m17 73): all agree that if we know that the rocks fell from the ido], they are 1vox
1 Even: the 7"n that "3y don’t worship shards will agree that in the case of Mercury, they do (7"nmR)
2 Dispute: plain rocks (that didn’t fall from idol)
(a) Even then: if they are close to the idol, they agree that they are nyor — (offered to idol)
(b) Dispute: if they are far away (in spite of wording "0»1pn T81” — means within &"7)
(i) 27 their custom is to make a small ©91p9n next to the big one; it is made of 3 rocks >71oR
(if) p2pom they don’t make a small ©9p7n there if they’re not obviously attached to idol — ammn
iii  Rewvisiting jany *1. rocks that fell from v*%1p7n are Mor
1 Challenge: Xn»11 — rocks that fell from ©%1pn are only ToR if they appear to be connected to it
(a) Dissent: Y8ynw’ 1 — only if there are three; two are not mmox
Defense (827): don’t read “that fell (y7w1w)”, rather “that were found (YR¥nv)”
(i) Challenge: YRynw’ 1 doesn’t permit 2; he rules that 2 which are no’ana are Mox; 3, even if distant
(if) Answer: if they abut the idol, even 2 are M¥; if a bit away — only 3 T1oR
1. Meaning; if there is some barrier between them
2. Question: is this how they make ©9pIn? 8n»a rules that ©91p n’ais 2 rocks and one on top
3. Answer: that is in re: base idol
iv  Realted story: 'Ry 22 was destroyed, ©)p1 was set up there; non-v"%1p 1 worshippers took stones to pave road
1 Ruling: some onin walked there; others didn’t
(@) 277 even DWITP YV 12 (RO 12 DMan "7, who wouldn’t look at images on coins) would walk there
2 Rationale: for prohibiting — per v.1; just as nn is never 03, so "y N1PN (the rock) is never 02
3 Rationale: for permitting (27 W1 Y11 "1) — N21pN must be similar to 079 NTaY (e.g. NYNY)
II  Two indecipherable mn»33, each brought by nn1> 92 121 and reported by qov A
a  If: anon-Jew brings ©"7pIn-rocks and paves a road — amn if a Y871’ does so — mMOR
i Solution (nww "7): as per Y11 "1 above — n21pn is only Mor if done 019 Py
b Care for trees: we may deworm and “heal” trees (by putting fertilizer on “wound”) during no’nw, but not on n”mn;
i But:in neither case may we prune
ii ~ However: in both cases we may apply a balm to the pruned section
1 Question (x¥°27): what was indecipherable?
2 If: the distinction between n”mn and nvnw —
(a) Resolution: Moynw is an NIRYA NO'R — no NIRON involved; n”mn is a problem of kN
3 If: the distinction between healing and pruning (on nvnw)
(a) No question: healing maintains the tree; pruning helps the tree grow further
4 If: “healing” vs. Rn»12 which only permits it during n’y»aw naoin (until n*)
(a) Answer: follows distinction between two kinds of healing; one which promotes growth is 1708
5 If: applying balm vs. Xn»72 which only allows applying oil to small fruit during n»»aw naovin
(a) Answer: in that case, it’s fattening the fruit; in our case, it’s maintaining it
6  Answer (81375 WX “77 7772 8D 77): he was bothered by the contradiction between “healing” and “applying
the balm” on n”mn — since both are there just to maintain tree, why is one (applying balm) 9mn and the
other 71oR?
(a) No answer: that’s why it was considered indecipherable

www.dafyomivicc.org 42 © Yitzchak Etshalom 2010




